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EXERCISE
OBJECTIVE TYPE
Q.1 How many times does the digit 2 occur between 1 and 100 ?
(A) 10 (B)9 (C) 12 (D) 20
Q.2 Given two whole nhumber a and b, which of the following may not always be whole numbers.
(A)a+b (B)a-b (C)axb (D)2a+b
Q.3 A student wrote
54+424+25+6=5+25+24+6.
Which property of addition did he use?
(A) Closure property
(B) Communtative property
(C) Associative property
(D) Property of zero
Q.4 27+ 52+ 73+ 10 =100 + [_]. Which value shall come in the b
(A) 52 (B) 73 (C)62 (D
Q.5 Which of the following statements does not re tap of a of whole number?
(A)38+53 =53 +38
(B) 16 + 7 is a whole number
(C) 899 + 10 = 8990
(D)4+(9+23)=(4+9)+23
Q.6 The population of a village is 1500. women, find the numebr of children.
(A) 549 (B) 439 (D) 539
Q.7 Thevalueof 300 x4 x 0 x 10 i
(A) 1200 (D)0
Q.8 Find the number af pa i n an average 305 words on a page, and contains
2,32,715 words altog
(A) 1111 pages (C) 763 pages (D) 973 pages
Q.9 zero?
0 10-10
© 5 (D) =
Q.10 ents is not true for three whole numbers a, b and c ?
(A) b) + c (B)ax(b+c)=(axb)+(axc)
(C)a-+ )+cC (D) (axb)xc=ax(bxc)
Q.11 er by 68, we get 269 as quotient and 0 as remainder. On dividing the same number
by 67, wha be the remainder?
(A)O (B)1 (C)2 (D)3
Q.12 How many whole numbers are smaller than 9 ?
(A)1 (B) 2 (©)3 (D)9
Q.13 The smallest whole humber is :
(A)O (B)9 (C)2 (D)1
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Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

Q.26

Q.1
Q.2

Q.3

Q.4
Q.5

Q.6

Q.7

The predecessor of whole number is :

(A) 2 (B)9 (o (D) Does not exist
The additive identity of whole number 1 is :

(A)O (B)1 (C) 2 (D) none of these
In whole numbersa-bob -a, o means :

(A) = (B) > (©) < (D) =

The multiplicative identity of whole number is :

(A)O (B) 1 (©)9 (D) none of these

Which is not defined ?

(A)4+2 (B)0O+4 (©)9+3 (D)3+0
The relationa + b = b + a, where a, b are whole number is :

(A) closed (B) associative (C) commutative (D) of t
Subtraction in whole numbers is :

(A) commutative (B) closed (C) associative (D). non ese
Which is not the successor of any whole number ?

(A)1 (B)O (€) 2 (

The predeccessor of 9099 is :

(A) 9088 (B) 9098 (D)9

The whole humber which is not a natura b

(A)1 (B)O

a + a =1, for which whole numb
(A)1 (B) 2

(D) none of these

(D) none of these

(D) addition and multiplication

)=(7 x 12) x 15
Solve property
(i) 12 x (i) 37 x 102

Fill in the b

(i) If any two whole number are added, we always get a number.

(ii) If any two whole number a and b are added, a to b or b to a, the is always
This propertyiscalled___ property of addition of whole number.

(iii) 7 x (32 x 56) = (7 x 32) x

(iv) is the additive identity for whole number.

The population of a village is 10725. 1 out of every 15 persons is uneducated. How many educated
persons live in the village?
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Q.8

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15
Q.16
Q.17
Q.18
Q.19

Q.20

Q.21

Q.22

Sheela brought a Hindi novel from the library which had 378 pages. She read 152 pages on the first two
days. If she read 79 pages on the third day, how many pages remain unread?

What number should replace each n ?

()3(n+6)=(3x5)+(3x6)

(i) (7x4)+(nx3)=7(4+3)

(iii)(9x8)+(8x8)=(9+8)n

Find each of the following products by using properties of multiplication :
(i)972 x 8+ 972 x 2

(ii) 46 x 982 + 27 x 982 - 58 x 982 - 15 x 982

(iii) 957 x 10 x 583 - 483 x 9570

Ashok buys 20 notebook and 20 pens. The cost of each notebook is Rs.
Rs. 13. Find the amount of money he spent?

Find the value of each of the following :

(i) (3278 +3278) - (5098 +~ 5098)

(i) 0 + 975

(iii) 701 - (1869 +1869)

State whether the following statements are true or false
(i) Zero is the smallest whole number

(ii) Every whole number is greater than zero
(iii) 64 - 36 = 36 - 64
(iv)75+0=75

(v) 1 is the additive identity for Whol
Find the sum of the four numbers
Successor of 32, predecessor of
predecessor of the predecessor of

that of each pen is

5) x (25 +
)=98x(100-__ )

(e)9 x (10000 + ) = 98766

Which of the following statement are true and which are false ?

(a) On a number ling, every whole number represents exactly one point and every point is represented
by exactly one whole number.

(b) Every whole number is the successor of another whole number.

(c) The largest 4-digit number formed by the digits 6, 7, 0, 9 using each digit only once is 9706.

(d) The sum of two whole number is always greater than or equal to their difference.

(e) If a and b are two whole nhumbers such thata - b = b - a, then a = b.
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